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I O | 0.100 | 16.900 1 2 3. 380
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PAKE 152 YR L 0.200 | 1.600 3 4 3. 840
PAKE IHI = Bweb 0.300 | 1.600 2 4 3. 840
PAKE 152 YR L 0.200 | 1.450 3 2 1. 740
PAKE IHI S Bweb 0.300 | 1.450 2 2 1. 740
PAKE 152 YR L 0.200 | 0.500 3 2 0. 600
PAKE IHI S Bweb 0.300 | 0.500 2 2 0. 600
P5IEIH ¢ 267. 4-2JH 0.840 | 1.750 1 2 2. 940
P5KE IS % FFL 0.800 | 1.990 2 1 3. 184
P52 %% FFL 0.400 | 1.990 2 1 1. 592
P5FE IS Bweb 0.326 | 1.990 2 1 1. 297
PoKE RIS st f 0.600 | 0.250 2 2 0. 600
POEIH ¢ 406. 9-2JH 1.278 | 1.940 1 2 4. 959
P6IE IS Bweb 0.280 | 1.720 2 1 0. 963
POAE I SZ Z il AL 0.280 | 0.600 2 2 0. 672
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by 7 L—n GRFEE [ 0.100 | 0.700 2 2 0. 280 1
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0.050 | 4.500 2 4 2.012 1.118
X 0.075 | 1.050 4 24 7. 560 1
e 0.050 | 1.050 2 108 11. 340 1
B B 2-1
by 7 L—n GRFEE | 0.100 | 1.500 2 1 0. 300 1
0.050 | 1.500 2 1 0. 150 1
by 7 L—n GRFEE [ 0.100 | 3.390 2 1 0.678 1
0.050 | 3.390 2 1 0. 339 1
by 7 L—n (R [ 0.100 | 5. 100 2 1 1. 140 1.118
0.050 | 5.100 2 1 0. 570 1.118
X 0.075 | 1.050 4 12 3. 780 1
e 0.050 | 1.050 2 55 5.775 1
s B 2-2
by 7 L—n (R [ 0.100 | 4.900 2 1 1. 096 1.118
0.050 | 4.900 2 1 0. 548 1.118
Xk 0.075 | 1.050 4 7 2.205 1
g6 0.050 | 1.050 2 26 2. 730 1
s B 2-3
by 7 L—n GRFEE | 0.100 | 2.765 2 1 0. 553 1
0.050 | 2.765 2 1 0.277 1
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iigE3 0.050 | 1.050 2 43 4.515 1
s B 2-4
by 7 L—n GRFEE | 0.100 | 2.465 2 1 0. 493 1
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0.050 | 5.550 2 1 0. 620 1.118
X 0.075 | 1.050 4 11 3. 465 1
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e 0.050 | 1.050 2 44 4. 620 1
B B 3-2
by 7 L—n GRFEE | 0.100 | 1.340 2 1 0. 268 1
0.050 | 1.340 2 1 0.134 1
by 7 L—n (R [ 0.100 | 5.965 2 1 1.334 1.118
0.050 | 5.965 2 1 0. 667 1.118
X 0.075 | 1.050 4 9 2.835 1
e 0.050 | 1.050 2 40 4. 200 1
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/NEE 0. 462
HRBIIT 300 CEMME) | 0.943 | 4.500 1 2 8. 487
0.943 | 1.000 1 2 1. 886
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C—C
le Y AT R —
@ |l aael
U 3 Y
g T ﬁ[
b 7 L;@;J
FRPS — FRPS —
300 x 150 300 x 150
B
Bk
fLEE Tk HifE Tk i T 5
b h B H — A=B-+H
mm mm mm mm fizi) m
50 50 450 150 2 0.135
300 50 700 150 2 0.210
150 50 550 150 2 0. 165
P B
150 50 550 135 2 0. 149
10 10 410 150 2 0.123
100 50 500 150 2 0. 150
40 30 300 150 1 0. 045
HEoKE 30 30 300 150 1 0. 045
30 30 300 150 1 0. 045
i 50 1 300 150 1 0. 045
G 1.112
@  0.01<A<0.07 0. 180
®  0.07<A<0.15 0. 407
®  0.15<A 0.525
At 1.112




6.4 fi%k - FIKITHT BT

EE Y
Bl 1.5 X 16.9
B B3 1 .56 X (9.7 + 1.14 )
P B 72 1.5 X ( 4.8 + 1.8 +
+ 5.1 + 3.05
W B3 1.5 x ( 7.44 + 0.39 )
1) ZANMMET
I ERIYi
JH R A= 25.350
& B A= 16.260 + 25.140 +
iGN
B A A NVE S = 28 mm
PEERER 2 A VR & = 25 mm
V= 25.350 X 0.028 + 53.150
2) EIX LR
A R
JH A= 25.350
P B A= 16.260 + 25.140 +
I EREN
BTN Z VB S = 50 — 28 =
BEESRENLZ VRS = 20 mm
V= 25.350 X 0.022 + 53.150
3) =) — RNy
B A NAT K L= 2.039 +  1.621
ALy B A 3.660 X 2.3t/
3) BN T R
JH A= 25.350
B B
BEEREET A= 16.260 + 0.05 X 1.5
BEERET2 A= 25.140 + 0.05 X 1.5
BEEREES A= 11.750 + 0.05 X 1.5

1.8
)

11. 750

X

11. 750

22

X

3

m

= 25.350 m
= 16.260 m
+ 0.21
= 25.140 m
= 11.750
/NFF= T78.500 ni
= 25.350 m
= 53.150 m
/= 78.500 ni
0. 025 = 2.039 m
= 25.350 m
= 53.150 m
/NEE= 78.500 ni
mm

0.02 = 1.621 m
= 3.660 m

= 8.418 t
= 25.350 m
34 = 18.810 m
35 = 27.765 m
20 = 13.250 m
NEE= 59.825 i
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THH 2 m
E KR A= 25.350 = 25.35
P B 0 A= 16.260 + 25.140 4+  11.750 = 53. 15
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THE 2 5
BWREE L X IVE K = 27 mm
MEEETE /L HLVE X = 27 mm
V= 25.350 X 0.027 4+ 53.150 X 0. 027 = 2.120
7) T
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T it Hi K& B B
SU-73 100P 17. 1nf 2=y k 1
SU-73 50P 11.4m 2=v h 1
SU-73 50P 11.8m Z=v h 2
E—7 v 7a=vk [SU-360 50P 5.4nd 2=k 1
SU-870 70P 4.1m 2=v h 2
SU-870 50P 3.4m Z=v h 4
/N B 2=v k 11
R T WEE X t=2TIRA kg 105
e B - BB £ A A2 TIR AT kg 210
il JE AN EEE S K i} 1
R =5 b e HUREBG IEH DAF U — N 15mfs = 1
WrEb Bk (M 1) t=15 m 78.52
622 m 12.8
628 m 14.2
e g G36 m .8
%fﬁ] EEM‘;% ] G42 0 3
G54 m 36.9
51 I i = 1
24 m 8.1
138 m 0.6
“HEARRE L O BHRE [#50 m 0.6
#63 m 1.3
57 I i =X 1
200X 200X 150 SUS Wp e 14
TIVIR T A 250X 250200 SUS WP 1 1
57 I i =X 1
Y RV ik m 88.6
U— N B N B m 532.5
MR - THEESL R = 1
E—F vV asmy bkiE B i 26.3
(%’%ﬁ%) BEEE - B nf 54.5
— Nif#Efe A — T4 2fpT/ = b (50 22
E'#ﬁ’ﬁl%%a&x_ ElEES & T 1
raﬁz%fﬁ%l s R E AR [BEE Sy AR U [[] 1
DFEHZHE T 5% = 1
)2 AL = 1




L AR At

HAfT H1 H2 H3 H4 H5 H6 H7 H8 H9 H10 H11 53
JER L m 2.24]  7.65 2.2 2.2 2.6 7.71  2.750  2.75]  11.4] 3.45] 7.39] —
[[FI5! B m 1.5 —
AlEmRE | AL -B | of 3.36] 11.48] 3.30 3.30] 3.90] 11.55] 4.13] 4.13] 17.10] 5.18] 11.09] 78.52
B ” — — — — — — 4.13 | 4.13 | 17.10 25. 36
B " 3.36] 11.48] 3.30 3.30] 3.90] 11.55 — — —| 5.18] 11.09] 53.16
BER LR
HAfT H1 H2 H3 H4 H5 H6 H7 H8 H9 H10 H1l | fiflind [22=> b
U n S 2 22 8 6 0 17 0 0 0.0 12 21 —

o6 dUT A2 - of 3.4  11.8 3.4 3.4 3.9 11.8 4.1 4.1 17.1 5.4/ 11.4] 79.8——

A2= (A1X20+n X0.3) =20 _

b — & — i AR E Y F —
SU-73 100P m 17.1 17.1 1
SU-73 50P [ 1.4 114 1
SU-73 50P ] 11.8 11.8 23.6 2
SU-360 50P [ 5.4 5.4 1
SU-870 70P [ 4.1 4.1 8.2 2
SU-870 50P [ 3.4 3.4 3.4 3.9 14. 1 4

R U 4.1 4.1 17. 1 25.3
P B [ 3.4 11.8 3.4 3.4 3.9 11.8 5.4 11.4] 54.5
it 79.8 11
EARFE T EEW=140ke/ i X ETE X EAZ LE S (0.027m) (15kg/ 4% HLAT)
WEEW= 140 X 25. 36 X 0. 027 = 95. 86 kg
95. 86 = 15 = 7 Ea
7 X 15 = 105 kg
BEEEW= 140 X 53.16 X 0. 027 = 200. 94 kg
200. 94 - 15 = 14 S
14 X 15 = 210 kg

Hl T RAMEERG K = 1

MR e BOERS IEH 16 U — R#R15mfS = 1

WG (M) t=16 REEvL Xy (@S = 78.52 mi



PRERLE

PB1 PB2 PB3 PB4 PB5 PB6 PB7 PB8 PB9 PB10 PBI11 PB12 PB13 PB14 PB/15 b
~PB2 ~PB7 ~PB4 ~PB5 ~PB6 ~PB7 ~PB8 ~PB9 | ~PB10 | ~PB14 | ~PB12 [ ~PB13 | ~PB14 | ~PB15 |~lffIik
G22 0.6 + 6.5 + 0.5+ 4.8|= 12.4
G28 6.2+ 2 + 3.9+ L1+ 0.5 = 13.7
G36 2.7 = 2.7
G42 13|+ 1.9 = 3.2
G54 3.6+ 1.9+ 5.3|+ 16.1 + 0.5/ +4.2x2[= 35.8

v = AT GRS AR

SRS SRS | SE R | SRS [ SE R | SERT | Sk | SR | SRS | SZ RS | SRS [ PBIS | B[
~PB1 | ~PB2 | ~PB3 | ~PB4 [ ~PB5 | ~PB7 | ~PB10 | ~PBl1l | ~PB12 | ~PB13 | ~PB15 |~iflf#z| ~PB14 | "

T

24 0.5[+ 0.5 + 0.5[+ 0.5[+ 1]+ 0.5[+ 1.7+ 0.5[+ 0.5 + 0.6[+ 1] = 7.8
30 0.5 = 0.5
50 0.5 = 0.5
63 0.6X2 = 1.2

AR E = AR EIRET & O EARE TRy 7 A

622 12.4X1.03 12.8m 24 7.8X1.03 8.1m SUS 200X 200 X 150 14 18
G628 13.7X1.03 14.2m 30 0.5X1.03 0.6m SUS 250X 250 X 200 11
636 2.7X1.03 2.8m 50 0.5x1.03 0.6m

642 3.2X1.03 3.3m 63 1.2X1.03 1.3m

G54 35.8X1.03 36.9m




U —F# RHV V5. 5sq-1C

=Y e SA=GH PB1 PB3 PB4 PB5 PB6 PB7 PBS PBY PB10 PB11
&5 ~PB ~PB2 ~PB7 ~PB4 ~PB5 ~PB6 ~PB7 ~PB8 ~PB9 ~PB10 ~PB14 ~PB12
H-1 5.4+ 1 0.6/+ (6.2 + 3.6+ Lof+ 5.3+ 16.1
H-2 3.6+ 1 + 6.2 + 1.3[+ Lo+ ( 3.6+ Lof+ 5.3+ 16.1
H-3 3.6+ 1 2.7+ ( 1.3[+ Lof+ 3.6+ Lof+ 5.3+ 16.1
H-4 3.8+ 1 + 2|+ 2.7+ 1.3[+ Lof+ 3.6+ Lof+ 5.3+ 16.1
H-5 5.8+ 1 + ( 2|+ 2.7+ 1.3[+ Lof+ 3.6+ Lof+ 5.3+ 16.1
H-6 5.2+ 1.5 + 3.6+ Lof+ 5.3+ ( 16.1
H-7 20| + 1
H-8 17.2| + 1
H-9 14. 4| + 1
H-10 3.6+ 1
H-11 4.2+ 2.2 6.5
A% 86. 8

=y N PBI12 PB13 PB14 i
®% | ~pBI3 ~PB14 ~PBI5 |~ bt
H-1 0.5+ 4.8[) x2 =[ 83.8
H-2 0.5[+ 4.8[) x2 =[ 78.4 At 608.8 m
H-3 0.5+ 4.8[) x2 =[ 78.1 B X PER (1.02) 621.0 n
H-4 0.5+ 4.8) x2 =| 83
H-5 0.5+ 4.8[) x2 =| 87 WY RV ke 86.8 m (D)
H-6 0.5+ 4.8[) x2 =[ 60.3 BE X PER (1.02) 886
H-7 + 4.8[) x2 =[ 30.6
H-8 + 4.8[) x2 =[ 27.8 B NERR 522 m GHERLIAL)
H-9 + 4.8[) x2 =| 25 BF X PER (1.02) 532.5 m
H-10 |+ 3.9)+ ( 1.1 0.5+ 4.8[) x2 =[ 21.3
H-11 |+ ( 3.9[+ 1.1 0.5[+ 4.8]) X2 =[ 33.5 o —fEr—7 v VCTF5. 5sq-6C
At 608. 8 15.0 m

g S e T 5t [ 2 = 1 fEpT

TR o R % 1 = 1 i

DA% [ T = 1

CWALE L = 13




6.7 Al-A2BEHEIEETL
1) AVRE 5 I
V= 150 X .14 X 0. 027 = 0.046

2) AUFGEEE 5
V= 2.00 X 0.43 X 0. 027 = 0.023

3) ARG BT
V= 025 X  1.64
-0.090 X 0.6

X

0.02 X 2
0.02 X 2 = 0.014

X

4) AU Bl
V= ( 0.800 X 0.43 + 0.510 X 0.29 + 0.330 X 0.15 )

X 0.02 = 0.011

5) ARG/ = 0.094
VAN
6) A&

V= 1. 68 X 0.3 X 0. 02 = 0.010
7 R = 01
AMBEMEEET 5125

(ELEBLATHER)
1640 _
0 1140 TLTAEE i
300__ 510 __330 (A= FE—F 1 > THH)
Leoo |
LA P Al gg
2 ! =
|
| [
|
| [
|
‘B B ELSVATRE t=20m B
A-A c-¢
1640 ~ ~ 2000 -
500 300 510 330 | 1250 1500 250,
HT— t= 8m MEHS—HE t= 8m |
\ TLBLAEA =27m ENFLATE B A2
Q “' (A—FE—T 1 T8 (A—FE—7 1 > 7 HEH]
% c E
o 1 L
HELZATEZ E TN B C 8

140

150‘

ELSLATEZ  t=20m ‘



A2EEBEIEETLT  s-1:25
(BILENITEEZR)

BYFirEs

300 ELBNATEZ £=20m

NN NRRRRRNS
SOOI NN
1680

300 ELZIITEZ t=20mm



6.8 tBEaVY ) —FERITHEEAT
BREHX XL 0 HEERE

arvz)—FRYEL V= 0. 054
a7 —k = 0. 054
T A= 0.27
i W= 7

TmEE s=1:10

[ PEERER 3

Fihlghtiyes  GAvLmLs - HBIEEM

& 30mmiFE E
e /;/ // //
7 ‘/ 7

vy Y= HTEZ /

300

{BIE R s=1:10 BRER s=1:10

- 600 . 300
50 500 50 50 200 50

B2 13

300
50 200 50
300
50 200 50

A p13

0.054 m
0.054 ni
0.27 m
7 kg



6.9 IREEZIVY ) — MEEBTL

OCEINFETAL
FHIEIE R 8. 00
& T AR IRFE 0. 0008
T CAMEE 0. 0008
VUbNFET

HKUOUhhHEER=2. 00m/Z

RIEHE T
2% 1§ 78 F 9.91
EEHET
(CC-B#E%E)

da

.

(CC: B§§J>:
N N

I <
L
b

X

8. 000
0. 0008
1600 kg/rrf X 1.2 m XA 1. 536
. wr =
VDUPNWFTIEIHESR
IE2YEE t =10mm
= - BEM R
Es iz W B3 L BED | o
mm mm mm m3
P245H 10 2000 10 0. 00020
P3#EH 10 2000 10 0. 00020
PARERD 10 2000 10 0. 00020
P5ER 10 2000 10 0. 00020
INEE 0. 00080
RTAMEE={KIE x 1600kg/m3x1.2 (AR) = 1. 536ke
9.910
)
FEHEINESR
BRI BEEa P )— EHEA
# (a) & (b) | & (h) | A% (n) ()
P14BR] $406. 4 ¢ 1000 300 1 1.60
P2{BH | $609.6 $1200 300 1 1.97
P34& D ¢ 609. 6 ¢ 1200 200 1 1.59
PARERD ¢ 508 ¢ 1100 100 1 1.09
P53& RN $267.4 ¢ 850 250 2 2.36
P61B RN ¢406. 4 ¢ 800 110 2 1.30
it 9.91

m

3
m

kg

2
m



6.10 ERLIET

Bat

h L |t © @ @ @ ® © @ e —
400 | 240 | 3 1 1 0. 096
400 | 245 | 3 1 1 0. 098
400 | 405 | 3 1 1 2 0. 324
400 | 455 | 3 1 1 0.182
400 | 500 | 3 1 1 2 0. 400
400 | 605 | 3| 2 2 0. 484
400 | 695 | 3 1 1 2 0. 556
400 | 705 | 3| 2 1 1 4 1. 128
400 | 755 | 3 1 1 4 6 1.812
400 | 760 | 3 1 1 0. 304
400 | 800 | 3 6 6 12 3. 840
400 | 805 | 3| 18 4 4 26 8.372
400 | 815 | 3 5 5 10 3. 260
400 | 860 | 3 1 1 2 0. 688
400 | 865 | 3 1 1 2 0. 692
400 | 910 | 3 1 1 0. 364
400 | 1405 | 3 1 4 5 2.810
400 | 1555 | 3 1 1 0. 622
400 | 1565 | 3 1 1 0. 626
400 | 1905 | 3 12 12 9. 144

A —Rx— MREFE 94 35. 802

A4 B
UAR/L k 192 99 48 75 75 81 75 348 | 993
JEE & 384 | 198 96 150 | 150 | 162 | 150 | 696 | 1986
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400
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6.12 Bi5T
1) JEEEE Y 25 T

RGZ A 73 (R - FIBICIZ > — biRBhEZEN)

A=WXL
A RS THFE (m2)
W RS EE (m)
L : @2%ER (m)
n: B GaEE T (&)

3.00 m

8.89

m

m2
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2) BEBEAA S T

= =1 =
P 1&%&5 (L .mmé d;;.i ﬁré,a
Al 61.52 2 — — 123. 040
A2 — — 1. 63 3.88 6. 324
A3 — — 6. 72 3. 88 26. 074
A4 94. 40 1 — — 94. 400
A5 68. 27 1 — — 68. 270
A6 — — 6. 94 5. 59 38.795
A7 36. 37 1 — — 36. 370
A8 46. 51 1 — — 46.510
A9 73.71 1 — — 73. 710
A10 34.61 1 — — 34. 610
All — — 1.65 3. 88 6. 402
Bt — — — — 554. 505

3) TITAREAT—H
G LoOREfEEE A — b aEE T2

A=

26.67 +

554. 51

SR EIAZ I ZCADT — & 2 & O FHME 2 7=,

581.175

m2
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TE%

BRA YT F U RBE WIISBEHELS

FrTEHD FEHEHARFERE WIIHER

BRENE ZE1fE7L> 13 8- PCB&A)

MELERE 522.2m2

RERT (GRIEXER)

EA R &5l - AR HE B Wz

REWREEY EHRMEREH 1358

BTEE 160m3/min EREMRERE : 1.04 15 13|14 B 135 Bx14/A
EEBEEERN-NyY TN vEy 160m3/min Ei=p ) 1& 16(4

SEEWARE £ 2 160m3/minfA 0300 BRI2EBEERWETS 14 26.1|mias

tFXa T4 ——L PHAR S U —vb—L, ERY— b AEEE. ENH 1|1&

IT7—vvT— B BRI © 1.04 1 L3[R/ B8 [1&ESH

IT7—Y v 7 —FIR7 4 LR~ 15 2|1 155
I7—>v7—FMAHEPAT7 4 L X — |PCBEERKLIE 1£ 1B/ & |1&ES

B2 IR 3,900L/min  HEPAZ 4 L2 fF BRERMZRERLE : 1.04 1.3~ B 1&/AR

FIRVEE BIGREE Ry 7AFRW > AR & ERARL3 s BUR
Ty hv—F (E#E) RE - MERUEEMEBER 1| E&RT M

BH T 7 TR AREER LEVRIRA4T £ (PCBEED=H) 5|1 S5ALH

TRAREER 7 4 LR — FhxGEIL3 TAINE— 136|f@ FAEAL x2(8/H
LR ELWET JIS T 8115 A& & 78|& FRAL x2ME/8
TasY—> s—nzx—v(L) |[3RIBEER/A 10|1%& 77X MFEAL+3R/E
Tasy—r s—Lz2—Y(F) |3R1EFEH/A 10|1%& 77X MFEAL+3R/E
ERI= v b gt 3[48

EERAEEEAR) 1|1&

IT5AvHR—2 ®9 L=20m 3A% 3%

IT5AvHR—2 ©19 L=25m TEEABEIHES ES

LS phEF& JIST 8116:#A &4 10|1& ANIHx BLE
FEWRTAFE 3|5 FRAL x4%/8

LS phEE R JIST8117#&ER 18K  (PCBEED/-HLIB) 5|1& ANIH

BEERARR N2 L#E200L (WUHFEE @ 200kg/E) UNEX LM 4lE

BEEY R th 1 850X 650mm  1004& 1|ma

BRIEXREN DR ERER B EEERL, MEE 522.2|m?2 EEHI60m3/ming TT7—3 v 7 —1fib
RIENRERMRE - ME BREET (BEEEEREI XY FEBEBRET) 15.333| A (GREBB+HIET) x 18T
EHEE WEARRURSBERMEEREM. AT 28 REYREM 5|%




